2 Lines.

4,

;q% Wt hao o conslound Slope . To wmp«d-c e
sipe of o Qe led (xy) ond (xa.4s) be any
o petnty en ae  Lie amd compute,

a~ U1
m:

Q Xa- X,
we Wit Haz variabll m
o densfe slope

Ex Compude (e glope of #az Luns dnat contains
e ?91:/%6 (i,-i) owmd  (24).

-1-1

S
m= 13 7 -3

S
L

Tt detsnt mather which st T chere b be (x.,.g.)l.



_4-tb g
m= =T =<

Eq‘vuuht’m A o Lns.

() Pk - glope
&) Stepe- mtercept

(1) CTLV\&V) o Line witr 549"76,W\, ound Pmm/(%n\/(y»)
we . wrike ¥ equation,

Yoy = m (2= 2,)
@) (hven o e witen slope , m, ond 1-|MULCFT , b,
we cmn write K2 eguation 3

\3: mx+ o where Hhe a@fW{M

Crosses HaL .ﬁ-ax\e.
Y- IfVA(rQ)/O@F_I:- /N

/ - oo y-oxts @ Yoot

- \,




We  con maM\‘»MmLc NIV equta/tnﬁm to 90 from
I?’L-S/le([?c form o %opc-m’ruoc,)t form.

B A e pos ptosiope equasbion ﬂ%t ~Qx+3).
Whrad w e i(lo’r@-iMUocFﬂc ca,ku(;cmn QAF e Line

%-#-amz)
%-{3‘&’)(-—(0

The Constank fumoéim (or henzentol Line) i a
bne vt glepe O.

There s a wnigul bine Haak passts -thw%h o
Two pts.

0 U U
Crven fwo plo we  an wnte Ha %WWQ’{'&
dine.



Ex. (;mmu The  p-dlope form of ¥z Line
b prser wosgls (R0 ard - (2,9).

= {x-2) lg‘{G-f(x—Q)
27:~’>c+3 ‘9—4=—7<+Q
y=-nr3

Two  Lwnes oue Pwtodle,Q d ond only B ey
have HdL  Came glg?e.

Both Lunes haue 4
a S/le’Fé ok 1

< Y
~ 7/




_E‘ii-_ Poralled Lanes @m% nterseck of 1‘“&4 ore

e Saume Oane.
Pevpenolicmﬂw LQines Wt Owus ook wterseck ol a
qou O\Mﬂﬁe ﬁ'
L

Twe nm—vernesd fwnes art WP@A/\OJMC\A!M W ond
Ol o e poduck of H#rewr clopes V) -1

N othher wovdy, e slopes
e efpcf/lic reciprocals

Ex. Gve am example of a lwe tak w
\wqu\w cular o ‘3= 3x+1.
W %0\)6 (9/( e New Lane y\@@pts o be _—é— .
A ‘ i | * .

] e with +€/i/\\( sf\oFe will wovk

For  example y="Zx "R



Ex Fnd a Line #ald 0 F@/Q@(\OLILUAW to
\0 —dx+ 32 and pASS€S ‘f'@/\YOUGJ'/\ €2 poulU

({,0).
m=§ (i order 1o be L)

3=§x+b (e Kae pb o solve for b)
)+ b

-+
AL
> b =

Exencist. Fnd o Lo Haok v Pa)/aﬂe,é, to
Y= -1 ok prsses Houghn Lre poink 2,0)



2. Quadiatic {funckions 2 (ounics.

A quadkatic function has e formesd,

® 4= ox’+bx+c  (standard form)
o %fa(/)(—h)% e (vertex me)

with a#0. We @l $#w ghape A quadratic
& porabofa.

B fw=x

Vertex ]Cevm) Y= A(xX~h)"+ R, v named because
the aertex of e Pa/abe{ou w ok (hk).



Ex. Cwm? Fvom etandord —7 vertex ]Cewn, AKB
Complcﬁnza tre square.

= (Peqxe (3 )-1- ()

lﬂ= <’Xa+4'x+ 3?>’(“4’

4= (x23)- 5

\/F\[/:m e c,owulple)@o Kl squawe we wie #al
mudlo,

}
C+lox = (e E ) - ("&)



Ex. Wnte Hag %ltw'mﬁ] [Jwra\w/la Wy vertex J;ewm
N X- dx+ 3.

§= R-anm1)+3-L

Y- (x-1)"~ &

Th;.mdg we RC to  fenew aloeuk olx/laouodt{c&-
(1) Dees i+ dace wp o dewn”’
@) Where vt s vertex?

3) Doec i+ lave voels/zeros amd what aie
HA%? 69 dascussed meve m 24

4) ™ a70, e pasabola foces WF.T;() 0c 0, ¥ue
Faﬂabsufa faces  dovon.

\ /‘““” :
/ \cx) —x*




